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Grundstiicksflache: 696 m?

RAUME - EG
Abteilung | Ebene | N ] Name | Brutto | Umfang

I- |[ERDGESCHOSS [EG.  [TREPPE | 12,17 m?] 15,29 m|
- 12,17 m?

1 ERDGESCHOSS 11 FLUR 2,22m* 6,04 m
1 ERDGESCHOSS 12 GAST 10,67 m? 13,34m
1 ERDGESCHOSS 13 SCHLAFEN 17,04 m? 16,52 m
1 ERDGESCHOSS 14 FLUR 1,46 m? 492m
1 ERDGESCHOSS 15 we 2,32 m 6,62m
1 ERDGESCHOSS 16 ABST. 10,50 m? 12,96 m
1 ERDGESCHOSS 17 DIELE 6,01 me 1242m
1 ERDGESCHOSS 18 WOHNEN 29,35 m? 2230m
1 ERDGESCHOSS 19 ESSEN 11,19 m? 1347 m
1 ERDGESCHOSS 110 [KUCHE 8,65 m 12,12m
1 ERDGESCHOSS 111 [BALKON 24,08 m? 2,32m
1 ERDGESCHOSS 113 [GARAGE 14,90 m? 16,44 m
1 ERDGESCHOSS 116 [Garten 52,33 m? #9,92m
1 191,62 m?

2 ERDGESCHOSS 215 [GARAGE 14,93 m? 1645 m
2 ERDGESCHOSS 216 |Garten 264,92 m? 83,27 m
2 279,85 m?

3 |ERDGESCHOSS |37 [Parkplatz 13,00 m?| 15,20 m]
3 13,00 m?

Gesamt: 17 496,64 m?
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